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«kuped okf ek [Wkzk{klke k. 31-3-2004 Lk hks Lke[Lie ckkfeyk {mddk{k ykd+ A.

rogkik

f{ib+ Gbis

yLb ykdfk

%[+ (bks
ML % [

{z

vk YL St
Oklkgzk ~ (zelk Texti)
WAL Likyk

ylb sdlckEkheyk y™ OmSKEYK
hkfz y™ helackF Mk rik=F

ylb chfk Ak rik=F
hicFlyrk
rAhky
fib{e r{=Fik
yLb r{=Bikk
OAkhkLke Lkrnile.
e[ {sckke OgkAkEYk fhoe

(y) rinky Wikh pF{E=yk {kx :

Y.

22,00,000
4,00,000
10,00,000
7,00,000
5,00,000
4,00,000
30,00,000
2,00,000
3,00,000
5,00,000
3,00,000
4,00,000
36,00,000
4,00,000
1,00,000

- Y. 80,000l sk{kd+ r{=Fik (loss assets) Wikh 100% <%
- Y. 2,00,000Lke F{ «{ky¥sik (sub-standard) r{=filkk Wikh 10% <%

() Fhahk {kx Y. 2,00,000
(F) sYhe fibEk {sckk vk

WikhkFik Lnilelk YRk ckifak FrpEK 1949 {sck VI “ov {sck LiVk LiFpktk ik y™ Vi{ *y’

{s¢k MF Whdb ikbkh Fhk.

(y) xfUd <%k (a{ i ¢k :
1. bk {scilk vk
3. 30+ nzeyilk doikh
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ylkak

2. thhkylk Bekefhy
4. Blk=ik {oxte nzeyk
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() Follef yiczk Wk Le[Uk dohrpt bk Fk.
1. Hehrpi-3 Ukkdkyk yUkak Aehrpti - 9 rAhkyk.
2. lhipti-14 yib ok yikak lehrpi-16 WL %[k,

«pkik r+r{xz y™ wylkde r+r{xzlk ik.31-3-04Lkk Whabk Lke[ {sck nikk.
SokckEkhey/k «phik r+.|  ylkde r+. | r{OkFikk «pkik r+. ylkde r+.
Yihkp+ {z¢ . fip{e r{=0ikk 6,00,000 2,40,000
Rfdexe ph {ze | 4,00,000[ 3,00,000| nhkfkyk — 50,000
kb y™k{ik | 2,00,000 —| (ck.rf. Y.66,000)
10%Lk rzck[Wk | 3,00,000 2,00,000| [k+ r{0fikk 4,85,000|  1,50,000
+yEkhk 2,00,000( 1,00,000| rzck[lk &xkd 15,000 10,000
Lk.Lk. 3akik — 1,50,000
11,00,000|  6,00,000 11,00,000 6,00,000

ikk. 1-4-2004Lk hks «pkik r+r{xz y™de r+r{xzLk Lke[ Lke phikky W{kdp FhokLk Lk—e fp.
1. chlk Fkkelke FioLe r{OFiKk SLelk-{RLk Kk PoRLK 3 : 2Lk «{ky{k {kdp kb A. [kikz
Epkd+ s{elk-{FiLkLke 6FLik ikLke ckoh BFik fhikk 20% ykAe A, Rbkh Po%Lke ckOhrF{ik 10%

YkAe A.

2. [k=r{=FikiLke ckoh ¢F{ik yLk¢{ Y. 4,65,000 y™ Y. 1,00,000 A.
3. chlk FkkeLik RFSexe phlke F{ik Y. 100 A slie Yahkb+ iF {ik phEeX ylk¢{ Y. 80 y™ Y. 50 A.
4.  YiheE oFfillle [FOye Mx yLkde r=r{xzLik phikk ckEk{k «pkik r+r{xz MkikkLkk SYhe phk ckLk
FikLkeLkk phiLke ik kLK apkLk{k +RLK yidkosk.
yLkde r+r{xzlkk [Kkz sYhe Yakikkyk kkh ik yLk « ik r=r{xzLk I{kSp AkAeLk AkF Wkhab kLK.
y Uk

MY+ r=rfxzlk iK.31-3-2004Lk hkslk Wkhdb Lie[ {sck A.

SokekEkheyk Y. r{ OkfFikk Y.

Yihkp+ {z¢ : Mihze 1,00,000

R.phk Ehf Y.100Uk yF vk s{eLk-{Filk 5,00,000

ik Yahkb+ 10,00,000| P%% 4,00,000

10% Lk «VhLWk phk Ehf hkfkyk 3,00,000

Y.100k yF yok Mhk Y%hkb+ | 5,00,000| lixkf 1,50,000

12%Lkk rzck [k 2,00,000| ESKEkhk 3,20,000

okF +kLk 1,00,000| — Yk=¥ikA 20,000

+y/Ekhk 2,50,000 3,00,000

Ede nzeyk 1,50,000| — %k.y. 10,000 2,90,000
hkfz ylk ckf 1,40,000
rzck[Wk oxkd 20,000
Lk.Lk. ik, 3,00,000

22,00,000 22,00,000
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Ikh[Lkle brslk Le[ {sck {sh Fhak{k yide A.

1. kY= r=r{xzlkk hkfeyk, Ede nzeyk y™ Y. 40,000 Lie hkfz rikdkbLk Adk ¥sheEe <ok {kx
Y. 15,00,000Lke Me¥kakh {ze MOk AkYLe™k r+r{xzLke MOKAkLKk Fok{k ykde s Y. 10Uk yF y ok
1,00,000 Rfdexe yLk 50,000 10%Lkk «VhLWk phk{k dn[kp=+ A.

2. Mky= r=r{xzlik y F RFSexe phikk chE-kLk AkYLelkk r+r{xz AkikkLkk ykX RFSexe phk Aknk Yahkb-k
aye 10%Lkk recr{P{ k.

3. Y= etk yF «VhL, phikk o=+l BY-Lelik r=r{xz kiU [kh «VAL, phi lhk Yahkp=
phyreLk v

4. MY+ r+rfxzlk rzek[WLie sokckEkhe 8%LKk rer{ P [FAOk Lhx AKYLelkk r+r{xz AkikkLkk 20%LKk
rzf Wk Enf Y. 100Uk yF y&k 100%Lk 3xkd ykikp.

+efdezplk Y[ {kx Y. 20,000 hkfzk yidkk.
My r+r{xz rolksLk Y[ Lk Y.15,000 [Flbk.
hicfky/kLkk [idkz &F L ikLkk 80% WAkIRPk.

Ay r+r{xzlkk [Kikz AkLk:h [Lk Fkikk Mernik sYhe Yakikeyk ikkh Fhky™ AGYLelkk r+r{xzLik [kikz
SYhe WK{LIAK yKikk.

(y) Yar{fk r=r{xzlk ik.31-3-2004Lk hkslk Wkhob Lke[ {sck A.

SOkekEkhey/k Y. r{ OkfFikk Y,

Vikp+ {z¢ : Ihze 1,00,000

R.phk Ehf Y.100Lk fib{e r{=0ilk 5,00,000

yf yak Mk Yihkb+ 5,00,000| hkfkyk 2,50,000

kb yL{ik 3,00,000( (ck.rf.Y.1,75,000)

ALk LOPKFLK YLK ik 1,00,000( [k+ r{=0ilk 3,00,000

10% Lkk rzck Mk 2,00,000( (Y.1,00,000Lke ckf rilk=F Mkrnik)

+y/Ekhk 1,00,000| rzck[k Sxkd 20,000

<Mk {f 3a[ 30,000

12,00,000 12,00,000

[Wkz Epko+ Miaze ikke oMlikedT oFfilik 80% A.
[Wkz Epkd+ fiofe r{=Filk iklke ckoh if{ik A s ikke {0 #F{ik fhikk 25% SA A Rbkh
[+ r{OkFikklke ck.rf. 10% ykAe A.
fkleLlk A0k Ak[ Oklkk 35% <% Fhohk Mn=klkk f+ Lk Y.10,00,000 A ylk yhlkdikik
daikhlkk Eh 13% A
Whhkp [KT%k LkviLk {zefhyLie Mk@riky Midozelke okyke Fhi.

yUkok
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3. (y) Mészelk {OPKFULL yikh Fhikk dkhokokle [ Fhk. 5

3. (ck) r«bfk r+r{xzlk ik.31-3-2004Lk hkslk Mkhob Le[ {sck A. 6
SokekEkhey/k Y. | =ik Y.
vihkp+ {ze : fkb{e r{OkFikk 10,00,000
‘v’ R.phk Ehf Y.100Lkk 6,00,000 | [k r{=fik 6,00,000
lkhk Yahkb+ (Y.1,00,000Lke
‘k R.phk Ehf Y.100Lk 3,00,000 | ¢kf rik=F Mrnik)
Y. 75 =% Yahkp+
Wk SkLP  yLIk{ ik 4,00,000
+y/Ekhk 3,00,000
16,00,000 16,00,000

fiklleLke cles r{=Filklke ckoh rf{ik 20% dA A.
FikLheLkk 35% <%k Fhohk AAelkk Wkhhkp LkVk Y.1,80,000 A Rbkh yikrlkik dikhlk Eh
10% akydk. oLk «Fkhlik philie yidiehf {0l Medriky fi{s Wikslk Ay FE{ik plik.

ylkak
3. (k) bhlke ykikhf 8f{ik, ckoh eFfik ylk Obkscle iF{ik Mh LKA ¥k 6
roVakek - 2
4. (y) e[ Epkd+ fiRlky yf yok 1956Lk fille Akhk yLobLe OadkRyk xf{k syidk. 5

1. oxolle yisk ra{p{lie ph cinin Mzd.
2. f+{ 208 nXa {ze{llle Obkslke [Foye.
ylkak
4. (y) e[ Eptd+ fiRlky yf yok 1956k fiklke Akhk yLoP yhzexhlke sokfEkheyk sykdk. 5
1. ph VheiE=e yiSk rzgk[h chnih Mizdk.
2. YikkhkLke OgkokR.
() XFUA <%k (@ i ) 6
1. n=lkk phk ylk ckklkik ph
Sn[yeker L

2.
3. lkzikhlkk ykzexLkk Fkbe{
4. NKYakLKKA
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(y) L[k ffe g ik yFuk yieex fibe{ ikpih Fhk.

1.

bk F I

2. ykékrekf yf{

ylkak

(y) Le[lk ikfe ok{ & yFlk yloky R heik Fhp.

1.

[+ Adkkk ¥aheELikh Sike

2. BAk{k Egkk £ Aikhliezelke pfk nkb ibkh

() Le[Uk ikfe ok ik olllk fVIaTk sykdk.

1.
2.
3.
4.

yizex yndks ylk yhzex «fkyiok
Thohilk ykzex yLk Likykfep ykzex
O okkaklk rzrdzlz y™ AdXLk rzrdzlz
yli{ik y™ OskdkRyk

a{ Tk Syl sdlck yhilk.

(y) L[k {ix Fiktie Aknk 1956 yL3P P {PkEK yaille OBGIRYK SV,

=

2
3.
4

WD IYak Yahdk yok

fkbEMkhLke {extok Yahok yak

phk oxidlke cknkh Akzok yak

K Le WALkALe oLk LKA Fhak vk

(k) yF YakokeEkhe Azelkk ikk.31-3-2004Lk hks Mhk Ukikk Lk Fhohklk ykzexh ikhef Lie[Lie
clkckikk R heik abkLk{k +pk.

1.

2
3.
4
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y.25,000Ue Uddky (rzikiex) hkfz{k Noefih+ A.

Y.30,000Lk K[k {k+ hkfzlke %heE+ A.

yT YikokeEkhlke SEakelk rd{klk rear{P{ Y.5000 ré{k r«r{p{ %[ ¥kik WAkh+ A.
k. 1-1-2004Lk hks %heE+ Y.1,00,000Lkk POk Wikh 25%Lik Eh Y.25,000Lk
Ykkhk Lk.Lk. ik WAkh= A.
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(f)

@
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yip™ r<r{xzlle Le[le {knile Wikhlle 2003-2004Lk SkLkk Sn[yelkiok LkVk Lk—e Fhk.

Ok YoMk Akn=kLkk FklkeAkhk «{ky yik{krdU
Lk F LkFlokLk sYhe Yakkhk Yallkkhk
Y. Y. Y.
2001-02 —1,20,000 60,000 45,000
2002-03 — 60,000 45,000 15,000
2003-04 +3,00,000 90,000 —

O YUK Wva Fhak yak o & [ih «rolLik syiek.




Seat No :
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Paper - V

Time : 3 Hours

Ingtructions: (i)

Figuresto theright indicatesthe marks.

[Total Marks :

@)  Answersof both the sections are to be written in ONE Answer Book.
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SECTION-|
1 The following are the balances extracted from the books of PROGRESSIVE BANK LTD as
on 31-Mar-2004.

Particulars Rs.

Interest earned 22,00,000
Other Income 4,00,000
Interest paid 10,00,000
Operating Expenses 7,00,000
Capitd 5,00,000
Reserves and surplus 4,00,000
Deposits 30,00,000
Borrowings 2,00,000
Other Ligbilitiesand provisons 3,00,000
Cash on hand and Balance with RBI 5,00,000
Baance with other banks 3,00,000
Investments 4,00,000
Advances 36,00,000
Fixed Assets 4,00,000
Other Assets 1,00,000

Additiond Information:

Thefollowing provisonsareto bemade:

a)

b)
©)

From theaboveinformation, prepare Profit and Loss Account in Form B and Balance Sheet in

For doubtful debt on advances:
On Loss assets of Rs. 80,000 - @ 100%.

On Sub-standard assets of Rs. 2,00,000 - @ 10%.

Provision for taxation—Rs. 2,00,000.
Statutory Reservesasrequired by law.

Form A asprescribed under the Banking Regulation Act, 1949.

1. (A)

TC-18

OR
Writeshort notes (Any TWO).
1. Statutory Reserves 2. Classficationof Advances.
3. Rebateonhillsdiscounted. 4. Billsof collection.
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2.

2.

(B)

Preparethefoll owing Scheduleswithimaginary figures.

1. Schedule—3Deposits OR Schedule—9 Advances.
2. Schedule—14 Other Income OR Schedule— 16 Operating Expenses.

The following are the Balance Sheets of PRASHANT LTD and ANUVI LTD as 12

on 31.03.2004
Liabilities Prashant Anuvi Assets Prashant Anuvi
Ltd. Ltd. Ltd. Ltd.
Paid up Capitdl : Fixed Assets 6,00,000 | 2,40,000
Equity ShareCapita | 4,00,000 | 3,00,000 | Investments — 50,000
General Reserve 2,00,000 — | (M.V. Rs. 66,000)
10% Debentures 3,00,000 | 2,00,000 | Current Assets 4,85,000 | 1,50,000
Creditors 2,00,000 | 1,00,000 | Disc.onDebentures 15,000 10,000
Profit& LossA/c — | 1,50,000
11,00,000 | 6,00,000 11,00,000 | 6,00,000

On 1/4/2004, PRASHANT LTD agreed to absorb ANUVI LTD onthefollowing conditions:

1. Thefixed assets of both the Companiesincludes Land and Building & Machinery inthe
proportion 3: 1. Thevalue of Land and Building asshown in the booksis 10% |lessthan the
market value, whereasthe market value of Machinery is10% less.

2. Themarket value of Current Assetsare Rs. 4,65,000 and Rs. 1,00,000 respectively.

3. TheEquity sharesof both the Companiesare of Rs. 100 each, paid up to the extent of Rs. 80
and Rs. 50 per sharerespectively.

4. Thepurchaseconsiderationisto be satisfied by issuing necessary sharesof PRASHANT LTD
in exchange of sharesof ANUVI LTD onthebasisof intrinsic value of their shares.

Preparenecessary ledger accountsinthebooksof ANUVI LTD and Balance Sheet of PRASHANT

LTD after absorption.
OR
Thefollowing isthe Balance Sheet of PARUL LTD ason 31-Mar-2004.

Liabilities Rs. Assets Rs.
Paid up Capital : Goodwill 1,00,000
Equity Sharesof Rs. 100 Land & Building 5,00,000
Each, fully paid up 10,00,000 | Machinery 4,00,000
10% Preference Shares Investments 3,00,000
of Rs. 100 Each, fully paid up 5,00,000 | Stocks 1,50,000
12% Debentures 2,00,000 | Debtors 3,20,000
Bank Loan 1,00,000 | Less: Bad Debts 20,000
Creditors 2,50,000 3,00,000
BillsPayable 1,50,000 | Less: B.D.R 10,000 2,90,000

Cashand Bank 1,40,000
Disc.on Debentures 20,000
Profit & LossA/c 3,00,000
22,00,000 22,00,000

TC-18
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Thefollowing scheme of reconstructionissanctioned :

1 A new company PARUMINA LTD to be formed with an authorised capital of
Rs. 15,00,000 divided into 1,00,000 Equity Sharesand 50,000 10% Preference Shares
of Rs. 10 each to take over the business of PARUL LTD except Investments, Bills
Payable and Cash balance of Rs. 40,000.

2. PARUMINA LTD will issue EIGHT Equity Sharesasfully paid at 10% premium for
every ONE Equity Shareof PARUL LTD.

3. PARUMINA LTD will issue FOUR Preference Sharesasfully paid for every ONE
Preference Shareof PARUL LTD.

4, PARUMINA LTD will issueits 10% Debenturesof Rs. 100 each at 10% Discount to
dischargetheliability of Debenturesof PARUL LTD at 8% premium.

5. Rs. 20,000in cashfor Liquidation Expenses.
6. The cost of liquidation expensesamounted to Rs. 15,000 paid by PARUL LTD.

7. Investmentsrealized 80% of itsbook value.
Prepare necessary ledger accountsincluding Reconstruction Account inthe booksof PARUL
LTD and pass necessary entriesin the booksof PARUMINALTD.

3. (A) ThefollowingistheBalance Sheet of BHUMIKA LTD ason 31-Mar-2004.

Liabilities Rs. Assets Rs.
Paid up Capitd : Goodwill 1,00,000
Equity Sharesof Fixed Assets 5,00,000
Rs. 100 Each, fully paidup | 5,00,000 | Investments 2,50,000
Generd Reserve 3,00,000 | (M.V.Rs.1,75,000)
Revaluation Reserve 1,00,000 | Current Assets 3,00,000
10% Debentures 2,00,000 | (Including Bank Balance
Creditors 1,00,000 | Rs. 1,00,000)
Discount on Debentures 20,000
Preliminary Expenses 30,000
12,00,000 12,00,000

Thevaueof Goodwill asshowninthebooksis80% of itsreal value.

TheFixed Assetsasshowninthebooksareat its market val ue, being 25% more than the cost,
whereasthe market value of Current Assetsare 10% less.

Tota Profitsof the Company before Taxes @ 35% for thelast fiveyearsisRs. 10,00,000 and
expected rate of returnis 13%.

Calculatethevaueof Goodwill by capitalisation of average profit method.
OR

TC-18 9



3.(A) Discussthefactorsaffecting thevaueof Goodwill.

3.(B) Thefollowingisthe Balance Sheet of PRI YANKA LTD ason 31-Mar-2004.

Liabilities Rs. Assets Rs.
Paid up Capital : Fixed Assets 10,00,000
‘A’ Equity Sharesof 6,00,000 | Current Assets(Including Bank
Rs. 100 each, fully paid up BalanceRs. 1,00,000) 6,00,000
‘B’ Equity Sharesof 3,00,000
Rs. 100 each, Rs. 75 paid up
Genera Reserve 4,00,000
Creditors 3,00,000

16,00,000 16,00,000

Themarket value of al the assets of the Company is20% more than the book value.

Theaverage profit of the Company after taxes @ 35% isRs. 1,80,000 and expected rate of
returnis10%.

Calculatethevaue of both the Sharesasper Intrinsic Value Method and Yield Method.
OR

3. (B) WritenotesonIntrinsic Value, Market vaueand Fair Vaueof Shares.

SECTION—II
4. (A) State, inbrief, the provisionsof the CompaniesAct, 1956 in respect of ANY ONE of the
following:
1. Issueof Sharesat discount OR at apremium.
2. Interest paid out of capital u/s. 208.
OR

4. (A) Statethedutiesof an Auditor inrespect of ANY ONE of thefollowing under the Companies
Act, 1956.
1. Sharetransfer OR Issueof Debentures.

2. Provisonfor Depreciation.

TC-18 10



4. (B)

5. (A)

5. (A)

5. (B)

Writeshort notes(ANY TWO).

1.  Right Sharesand Bonus Shares.
2.  DivigblePrdfit.

3.  Cost Audit Programme.

4.  MinuteBooks.

Preparean audit programme of ANY ONE of thefollowing.

1.  Educdiond Inditution.
2.  Manufacturing Unit.
OR
How will youinvestigate ANY ONE of thefollowing.
1.  Purchaseof running business.
2. Whenfraudissuspectedinthebusiness.

Explainthedifferenceof ANY TWO fromthefollowings.
Audit Report and Audit Certificate.

Tax Audit and Financial Audit.

Interim Dividend and Find Dividend.

A w DN PR

Reservesand Provisions.

6. Attempt ANY THREE of thefollowings.

(A) Statethetimelimit providedinthe CompaniesAct for thefollowings:
) For holding Annua Genera Mesting.
i)  Forholding Statutory Meeting.
i)  Forissueof Sharesat discounts.
Iv)  For entering theminutesin the ShareHolders' minute book.
(B) AsaTaxAuditor of aPartnership Firmfor theyear ended 31 March 2004, how will

TC-18

you ded withthe followings:
) Accepted adeposit of Rs. 25,000in cash.

i)  Purchaseof Raw Materialsworth Rs. 30,000in cash.

i) Lifelnsurance premium of oneof the partner amounting to Rs. 5,000 debited to

I nsurance Premium ExpensesA/c.

iv)  Depreciation amounting to Rs. 25,000, being 25% on the machinery worth
Rs. 1,00,000/- purchased on 1.1.2004 has been debited to Profit and L oss

Account.
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(©)

(D)

TC-18

Ascertain the profit available for dividend for the year 2003-04 from the following details

of AASHNA LTD.

Year Profit /Loss Depreciation Unabsor bed
before required by Depreciation
depreciation Law
Rs. Rs. Rs.
2001-02 —1,20,000 60,000 45,000
2002-03 — 60,000 45,000 15,000
2003-04 + 3,00,000 90,000 —

Give any FOUR sources of creating secret reserve.
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